

Town of Maynard 2023 Paving Bid Results

Bid Date: 10/17/2023

	Daniels Asphalt Services	P.J. Keating Company	Newport Construction Corp.
TIGER DR	\$104,075.00	\$123,900.00	\$122,250.00
PINE HILL RD	\$96,600.00	\$102,625.00	\$111,300.00
LEWIS ST	\$19,950.00	\$20,450.00	\$21,900.00
TOTAL	\$220,625.00	\$246,975.00	\$255,450.00

Town of Maynard 2023 Paving Bid Results

Bid Date: 10/17/2023

Base Bid - Great Rd	Daniels Asphalt Services				P.J. Keating Company		Newport Construction Corp.	
	Item	Estimate Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price
1 Mill Existing Pavement to a depth of 2"; Remove 1 and Dispose of Millings	2500	SY	\$6.00	\$15,000.00	\$7.00	\$17,500.00	\$10.00	\$25,000.00
2 Machine Pave 2' Bituminous Concrete top course	310	TON	\$145.00	\$44,950.00	\$165.00	\$51,150.00	\$135.00	\$41,850.00
3 Adjust Manholes and Catch Basins	15	EACH	\$150.00	\$2,250.00	\$500.00	\$7,500.00	\$350.00	\$5,250.00
4 Adjust Gate Boxes	1	EACH	\$125.00	\$125.00	\$250.00	\$250.00	\$300.00	\$300.00
5 Rebuild Manholes and/or Catch Basins	1	EACH	\$500.00	\$500.00	\$500.00	\$500.00	\$550.00	\$550.00
6 Asphalt Berm	5	TON	\$200.00	\$1,000.00	\$250.00	\$1,250.00	\$550.00	\$2,750.00
7 Full Depth Pavement Patching	150	TON	\$175.00	\$26,250.00	\$225.00	\$33,750.00	\$215.00	\$32,250.00
8 Sidewalk Repair	20	TON	\$150.00	\$3,000.00	\$300.00	\$6,000.00	\$215.00	\$4,300.00
9 Compost Filter Tube	1000	EACH	\$11.00	\$11,000.00	\$6.00	\$6,000.00	\$10.00	\$10,000.00
				\$104,075.00		\$123,900.00		\$122,250.00

Town of Maynard 2023 Paving Bid Results

Bid Date: 10/17/2023

Pine Hill Road		Daniels Asphalt Services			P.J. Keating Company			Newport Construction Corp.	
		Estimate Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Reclaim Existing Pavement; Fine Grade and Compact; Haul and Dispose of Excess Material	2600	SY	\$4.00	\$10,400.00	\$6.50	\$16,900.00	\$12.00	\$31,200.00
2	Machine Pave 1.5" Bituminous Concrete top course	250	TON	\$145.00	\$36,250.00	\$165.00	\$41,250.00	\$135.00	\$33,750.00
3	Machine Pave 2" Bituminous Concrete Base course	330	TON	\$145.00	\$47,850.00	\$130.00	\$42,900.00	\$135.00	\$44,550.00
4	Lower Plate Manholes and Catch Basins	1	EACH	\$500.00	\$500.00	\$175.00	\$175.00	\$300.00	\$300.00
	Adjust Manholes and/or Catch Basins to Final								
5	Grade	1	EACH	\$500.00	\$500.00	\$500.00	\$500.00	\$450.00	\$450.00
6	Lower and Plate Gate Boxes	1	EACH	\$300.00	\$300.00	\$150.00	\$150.00	\$200.00	\$200.00
7	Adjust Gate Boxes to Final Grade	1	EACH	\$300.00	\$300.00	\$250.00	\$250.00	\$300.00	\$300.00
8	Rebuild Manholes and/or Catch Basins	1	EACH	\$500.00	<u>\$500.00</u>	<u>\$500.00</u>	<u>\$500.00</u>	<u>\$550.00</u>	<u>\$550.00</u>
					<u>\$96,600.00</u>		<u>\$102,625.00</u>		<u>\$111,300.00</u>

Town of Maynard 2023 Paving Bid Results

Bid Date: 10/17/2023

Lewis Street		Daniels Asphalt Services			P.J. Keating Company			Newport Construction Corp.	
		Estimate	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price
	Reclaim Existing Pavement; Fine Grade and								
1	Compact; Haul and Dispose of Excess Material	450	SY	\$4.00	\$1,800.00	\$6.50	\$2,925.00	\$12.00	\$5,400.00
2	Machine Pave 1.5" Bituminous Concrete Top course	50	TON	\$145.00	\$7,250.00	\$165.00	\$8,250.00	\$135.00	\$6,750.00
3	Machine Pave 2" Bituminous Concrete Base course	60	TON	\$145.00	\$8,700.00	\$130.00	\$7,800.00	\$135.00	\$8,100.00
4	Lower Plate Gate Boxes	2	EACH	\$300.00	\$600.00	\$150.00	\$300.00	\$200.00	\$400.00
5	Adjust Gate Boxes to Final Grade	2	EACH	\$300.00	\$600.00	\$250.00	\$500.00	\$250.00	\$500.00
6	Lower Plate Manholes and Catch Basins	1	EACH	\$500.00	\$500.00	\$175.00	\$175.00	\$300.00	\$300.00
7	Adjust Manholes and/or Catch Basins to Final Grade	1	FT	\$500.00	\$500.00	\$500.00	\$500.00	\$450.00	\$450.00
					\$19,950.00		\$20,450.00		\$21,900.00